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( Example )

 Real World, Word Problem Worksheet
     Instruction: Read each word problem carefully.Solve the problem using 
                        repeated addition and multiplication.

1. Emma picks 3 apples from each tree. She picks from 5 trees.

Use repeated addition: _______________

Use multiplication: _______________
2. Each row in the classroom has 4 chairs. There are 6 rows.

Use repeated addition: _______________

Use multiplication: _______________

3. Liam jumps 7 times every minute. He jumps for 4 minutes.

Use repeated addition: _______________

Use multiplication: _______________
4. Sophia buys 5 cupcakes in each box. She buys 3 boxes.

Use repeated addition: _______________

Use multiplication: _______________
5. There are 2 swings in each park. There are 8 parks in town.

Use repeated addition: _______________

Use multiplication: _______________
6. A farmer plants 9 �owers in each row. He plants 5 rows.

Use repeated addition: _______________

Use multiplication: _______________

7. A library shelf holds 6 books. There are 7 shelves in the library.

Use repeated addition: _______________

Use multiplication: _______________
8. Each basket has 4 bananas. There are 9 baskets at the store.

Use repeated addition: _______________

Use multiplication: _______________

9. Each carton holds 12 eggs. There are 3 cartons in the fridge.

Use repeated addition: _______________

Use multiplication: _______________
10. Each table at a picnic has 8 water bottles. There are 6 tables.

Use repeated addition: _______________

Use multiplication: _______________


